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1 (x +5) (x +3) 21 (x+1) (y +7)
= x? +(5+3)x +3%5 =xy +7x +y+7 \[ﬁﬁﬁwim!]
= x’+8 +15
3] (x +3)2 [4] (x —2) (x +6)
= x2 4+ 2x3xx +3° = x'+(—2+6)x—2%6
= x’+6x+9 = x’ +4x —12
Bl (x +1) (x —1) \i IR0 < IRTH ! ] 6] (x —5)°
=x’—1° = x’—=2x5xx+(—5)°
= x’—1 = x°—10x +25
71 (x —4) (x +5) 8] (x —2) (x +2)
= x'+(—4+5)x—4%5 =y’ —2°
= x?+x—20 =x’—4
9 (x +2) (x +5) [10] (x —2y) (x +2y)
= x?+ 2 +5)x +2x5 = x’ =)’
= x’+7x+10 = x2—4y2
[11] (2a +3b) (2a —b) 2D 2] (a+b+c)”
2a=A4 £5< a+b=A4 &<
= (4 +3b)(4 —b) = (4d+¢)°
= A7 +2b4 —3b° = A°+2cd +c°
= (2a)’ +2bx2a —3b° = (a+b)’ +2c(a+b) +c”
= 4a’ +4ab —3b° = a’+2ab+b*+2ac+2bc+c”
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[1] (x +3) (x —3) (2] (x —4)2

= x’—3° = x’ —2x4xx +(—4)°

=x’—9 =x’—8+16

(3] (x +2) (y+3) \{ﬁ’f"ﬁ“m’] 4 (x+1) (x +8)

=xy +3x +2y +6 = x7 +(1+8)x +1x8

= x’ +9x+8

5] (x —2) (x +6) (6] (x +2)2

= x’+( —2+6)x —2x6 = x’+2x2xx +2°

= x’ +4x—12 = x’ +4x +4

(71 (x +10) (x —10) 8] (b+2) (b —3) ﬁii;ﬁiﬂ“]
= x’—10° = b’ +(2 —3)b+2x —3

= x’—100 =b’—b—6

(9] (a +8) (a —8) [10] (x —6)2

=q°—8° = x’ —2x6xx +(—6)°

= a’ —64 = x’—12x+36
[11] (5x —4y)? ) [12] (x+y+3z) (x+y—3z)

Sx=A,4y=B L#< x+y=A4 L#< 2D

= (4 —B)° = (A +32)(4 —3z)

= A’ —24B +B° = A°—(3z)°

= (5x)° —2x5xxdy + (4y)° = (x +y)° —9z°

= 25x° —40xy +16y° = x’+2xy+y° —9z°
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(1 (x +3)° 21 (y +1) (z —2)
= x° +2x3xx+3° =yz—2y+z—2 71‘?’5“@“*?“!
= x’+6x+9
3] (x —10) (x +10) (4] (x +2) (x —8)
= x’—10° T’ij(fjfg”;;i} =x"+02 —8x+2x —8
= 2 —100 — = x? —6x—16
5] (x —5)2 6] (x +3) (x —3)
= x7 —2x5xx +(—35)° = x’—3°
= x7 —10x +25 =x’—9
(71 (x —6) (x +6) 8] (x +2)7
= x’—6’ = x7 +2x2xx +2°
= x’—36 = x° +4x+4
[9] (y —2)° (10 (x —3) (x —5)
= )7 —2x2xy+(—2)° Tﬁ;@@;m] = X7 (=3 —5x—3x—5
=y’ —4y +4 = x’—8& +15
1111 (2a—6b) (2a +5b) O [12] (x +y+z) (x +y—32)

2a=A ¢5< x+y=A4 £5<
= (A—6b)(A + 5b) = (A +z)(4 —32)
= A°—bA —30b° = 4% —2z4 —3z°

= (2a)°—bx2a —30b°
= 4a°—2ab —30b°

= (xty) ? —2z(x+y) —3z°

= x2+2xy+y2 —2xz —2zy —3z°

Gtz BR

m



	Sheet1
	★　
	Sheet1

	★　
	Sheet1

	★�
	Sheet1




